GSE Accelerated Precalculus Unit 1 Trig Functions — Review Spring 2018

Find two coterminz! angles, one positive and one negative for each of the following.
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{1, Evaluate the following trigonometric expressions. : ,
8. csc(750°) = CSC (wﬁ) 9. cot(-60°) = COT (’%03)
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nometric equations. List answers'in'both'dégrées and radianst

Iil. Solve the following trigo
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IV. Using a calculator, solve for the angle, 8, where 0" < ¢ <360". Round answers to the nearest hundredth.
21.tan 8 = 0.3640

B =20°
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19. sin 6 = 0.3907 20. cos 0 =-0.3746
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24. cot 6 =-0.1405

22.sec 8 =1.0154 23.csc6=4.1336 :
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V. Solve for all six trig functions of © with the given charactaristics.
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VI. Free Response Questions.
21, Define a reference angle.
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22, identify the angles on the unit circle with the same reference angies
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23. ldentify wh|ch trig functions are positive in‘each guadrant.
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VIL Simplify the foillowing inverse trig expressions.
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